log (L*)
L*

LABJNDuO standard lightnessL*

=L w

nc=100,

L* L aBanDuo=[IN[(A 1r+A2a)I/(A 2nA0n)]
L* \(3.6)=219L* ,(18)=498 L*\,,(90)=776

log[L*/L*

L*30=498.34 A,, 7, Agn:O,QOSS

L*36=219,17 L= | B34Y18, ?gg&%aﬁon

1,518
13200

Y36

LABJINDuO
tristimulus value difference
Yoc=L*w - nc=100,
L* L aBanDuo=[IN[(A 1n+A2nV)I(A2nA0n] (Yn/100<Y<=Y,c)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019

dYg=0,53, Ay=1,000, G=1,00

dY;g=0,12, A =0, 017 Agn 0,0058

dY3 60,03 Y,=18, dY=0,12

L*,=498 dY,=0,12 dY,/Y,=0,0067, " W

log AY/Y)
S=(AY/Y)

LABJINDuO
tristimulus value sensitivity
Yoe=L*w nc=100,

L* Laganpuo=[IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)
AYIY=Agr A 1Az YY

(dY/Y=0,0059, Ay=1
(dY/Y%s—O ,0067, A =0

(dY/Y’ : Az

0, 00058
fo,nlosvuzm \(,:0

log(dY/Y)E-2,17, m=-0,103 ~ application
og(dY/Y) m, Iz - - e

L* ;=498 dY,=0,12 dY,/Y,=0,0067
1

'Y,=18
Yw=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

LABJINDuO

tristimulus value contrast
Yo=L*w - 6 :ne=100,

L* Laganpuo=[IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Yso)
YIAY=Y/[Agn(A1ntA2nY)]

(Y/dY}y=166,97, A=1,000,
(Y/dY) =
(Y/dy!

¢=1,00
=148,27, A;=0,017, A,=0,0058
®=95,03 Y, 218 dy=0.13

L*,=498 dY,=0.12 Y,/dY,=148_ _

log(Y/dY)=2,17, m;=0,13 - = = ~

application
range

Y,=18
s Yyy=90

3
1
1
1
1
]

Yn=3.6

(Yad100<Y<=Y,0)

log [(Y/AY) I (YAY),]

log (LH1L* )

LABJINDUO relative standard lightnessL*/L* ,
LA

—L*
nc w

nc=100,
L* | aBaNDuo=[IN[(A 15+ A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
L* \(3,6)=219L* ,(18)=498 L*,,(90)=776

t*goll_* =155, A;=1,000, g=1,00

19/L*y=1,00, A =0,017, A= 00058
L¥3 dL¥=0,43 L% =498,34 =1

log[L*/L* ;]=0, m,=0,33

application
range
Y,=18
Yy =90

N3
log(A Y/AY W)
AYIAY,

LABJNDUO relative
tristimulus value difference
Yoe=L*w ~ ne=100,

L* L aBanDuo=[IN[(A 1n+A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
AY/dY,=AgnA 11+AanY1/dY,

dYgoldY =4,43, Ay=1,000, ¢

=0,017,

=1,0
Y,=1,00, Ay =
dYs gdY,=0,31 Y, 218, Y=

AZ,O
0,1

7
L*,=498 dY,=0,12 dY,/Y,=0, 0067 s

application
1 range

1v,=18
Y=90

YN=3.6

log [AYY) I (AYIY),]
SSu=OYN)AYIY),

LABJNDUO relative

tistimulus value sensitivity
Yoc=L*w « -nc=100,

L* Laganpuo=[N[(A 1n+A2nV)J(A 2nA0n)] (Yae/100<Y<=Yyo)
(AY/YYAY /Y =(ArtAg Y)Y (dY/Y),]

(dY/Ypo/(dY/Y)=0,88, Ay=1,000, ¢=1,00
(dY/Y)g/(dY/Y)=1,00, A=0,017, A, =0,0058
(dY/Y} d(dY/Y,=156 Y,=18 dY=0,12

log[(dY/Y)(dY/Y)]=0, m;=-0,13 1

= - = application
* =498 dY,=0,12 dY,/Y,=0,0067, rapr?ge

1y,=18
Y=90

YN=3.6

LABJNDuUO relative
tistimulus value contrast
CrlCru=(YIB(YIAY)y Y 21y =100,
L* L aBaNDuo=[IN[(A 1n+A2n)I/(A 2nA0n)] (Yn/100<Y<=Y,0)
(YIAYY(YIAY)=(Y/YIAY L) A oAt A (YIAY),
(Y/dY}g/(YIdY)=1,12, Ay;=1,000, ¢=1,00

(YIdY)g/(Y/dY)=1.00. An=0.017, /,=0,0058
(Y/dvféj(wdv =0,64 é 18, d\g—Az”

L* =498 dY,=0,12 Y,/d¥- %48~

1 application
1 range
'y,=18

Yy=90

YN=3.6




